Haimework,
1. The fepes of a 3-year university course s S48 OO0,
il Anthony®s parents have apreed o pay 0% of his course Ffees. How mauch is the remalring
Course fees?
ik} Anthory decides to take up @ study ioar 1o ay cfl the remaknieg course Tees. The Following
shows the different packages that he could take-
Package |: Compound Interest of 4_.5% per annum, Repaymant period af 5 years
Package i1z Simple Interest of 5% per annun, Bepasment peried of & years
i, Fund the tota) amount that he has wo pay if e takes g Fackage 1
i, Find the tots]l amount that he bas wa pey if be takes g Package Il
Hi. Which package will Anthoy Eakee up if be can aaly alfard ko pay a maxsmum $700 per monkh?
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